
©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

10/15/19SW72256

Rope Swing

71 /

Rope Swing

CC



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

10/15/19SW72256

Rope Swing

72 /

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

kg kg

x x

x x

x x

x x

x x

x x

x x

x x

x x

x x

x x

x x

1 SW72257 2470 x 89 x 187 mm1 24.64

2 SW71678 2

3 32-03249 500x430x300 mm2 0.09

4 SW71475 4 4.12

5 SW73436 4 4.17

6 SW72412 2000mm xØ25mm2 1.62

7 SW73437 4 9.64

8 8005537 Ø35x20 mm8 0.01

9 8042811 Nut, ISO7042-M12-84 0.018

10 8008834 Ø12,5x30x3 mm10

11 8008425 Screw, ISO4014-M12x130-8.82 0.1317

12 8008421 Screw, ISO4014-M12x90-8.84 0.0961

13 8008411 Screw, ISO4017-M12x30-8.82 0.0429

14 SW67746 Bushing4 0.00

15 SW73086 Ø108.5 x 2970 mm4 Various

16 780-670 M5x20_A42 0.00

17 10400102 2 0.02

S17

X

S20 S1951

18 8008713 RXS B4x9.52 0.005

S18

1  5



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

10/15/19SW72256

Rope Swing

73 /

EN1176

FH

S6

1,75m

3,40m

1,60m

5,30m

4,55m



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

10/15/19SW72256

Rope Swing

74 /

 2
,8

6m
 

 0
,1

0m
 

 0
.6

0m
 

 >
=0

,2
0m

 

 >=0,40m 

 1
,9

8m
 

 0
,8

0m
 



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

10/15/19SW72256

Rope Swing

75 /

 1,60m 

 2m 

 1,18m
 

 0,92m
 

 1,18m
 

 0
,8

0m
 

 >=0,40m 

 >
=0

,2
0m

 

 0
,1

0m
 



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

10/15/19SW72256

Rope Swing

76 /

x4
9

10
x6

x2
13

1

3
x2

13
x4

x4
6

x4
9

x10
10

8
x8

12
x2

2x2x



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 1

10/15/19SW72256

Rope Swing

77 /

4
x4

15
x4

x2
2

11
x4

16
x2

17
x2

x2
15

2x

5
x4

x4
7

4x

mm

S10

Ø4mm


